


 

 

 

Q1.Replace the question mark with the right option. 4, 32, 288, ?,31680  

(a) 25600      (b) 2880  

(c) 7420      (d) 10000 

Q2.In a certain language, (A) 'Sun shines brightly' is written 'ba lo sul; (B) 'Houses are brightly 

lit' is written as “Kado udo ari ba'; and (C) 'Light comes from sun' as 'dapi kup lo nro'. -What 

words will be written for „sun' and 'brightly'?  

(a) lo, ba      (b) ba, lo  

(c) sul, lo      (d) ba, sul 

Q3.In a certain code 'LATE' is written as 'LBVH'. How "MAIN' will be written in that code?  

(a) MBKQ      (b) MBOK  

(c) MKQB      (d) MQBK 

Q4.Find the wrong term in the following series. 27, 64, 125, 216, 333  

(a) 27        (b) 64  

(c) 333       (d) 216 

Q5. Find the correct combination Modern: 1 :: 11 : Old 

I  (A) Ancient    (B) Death 

    (C) Famous    (D) Civilization  

II  (P) Industrialisation (Q) Young 

     (R) Fashion   (S) Western 

 

(a) AQ       (b) AS  

(c) BP       (d) CR  

Q6.Complete the following series. GMSY, IOUA, KQWC ?  

(a) MSYE       (b) NSYE  

(c) MYTE       (d) MSYF 



 

 

 

Q7.An elevator has the capacity of 12 adults or 20 children. How many adults can board the 

elevator with 15 children? 

(a) 4       (b) 5  

(c) 3       (d) 6 

Q8.Rohan ranks seventh from the top and twenty sixth from the bottom in a class. How many 

students are there in the class?  

(a) 31       (b) 32  

(c) 33       (d) 34 

Q9.Five me A, B, C, D and E read a newspaper. The one who reads first give it to C. The one 

who reads last had taken it from A. E was not the first or the last to read. There are two readers 

between B and A. Who reads the newspaper last?  

(a) A       (b) C 

(c) D       (d) E 

Q10.If 52 x 45 = 30; 73 x 21 – 23 and 84 52 = 42, then 62 x 43 =?  

(a) 20       (b) 30  

(c) 24       (d) 32 

Q11.Find the missing term R, U, X, A, D,?  

(a) F        (b) G  

(c) H        (d) I 

Q12.Find the missing term. 22, 24, 28, 2, 52, 84  

(a) 36        (b) 38  

(c) 42        (d) 46 

Q13.Ajay left home for the bus stop 15 minutes earlier than usual. It takes 10 minutes to reach 

the stop. He reached the stop at 8:40 AM What time does he usually leave home for the bus stop?  

(a) 8:30 AM       (b) 8.45 PM  

(c) 8.55 AM       (d) 8.45 AM 



 

 

 

Q14.Which word cannot be made from the letters given in the following question 

"REASONABLE"  

(a) BRAIN       (b) BONES  

(c) NOBLE       (d) ARSON 

Q15.Present age of Anupam and Raju are in the ratio of 5:4 respectively. Three years hence, the 

ratio of their ages will become 11:9 respectively. What is Raju's present age in years?  

(a) 24        (b) 27  

(c) 40        (d) 38 

Q16.Rahim started from point X and walked straight 5 kin west, then turned left and walked 

straight 2 km and again turned left and walked straight 7 km. In which direction is he from the 

point X?  

(a) North-East      (b) North-West  

(c) South-East      (d) South-West 

Q17.Jaideep was given some money by his mother on his birthday. Jaideep spent all of it in four 

stores. In each store he spent one rupee more than half of what he had when he came in. How 

much money did he get from his mother?  

(a) Rs. 25      (b) Rs. 30  

(c) Rs. 46       (d) Rs. 52 

Q18.Looking into a mirror, the clock shows 9:30 as the time. The actual time is  

(a) 2:30      (b) 3:30  

(c) 4:30      (d) 5:30 

Q19.If football is called cricket, cricket is called basketball, basketball is called badminton, 

badminton is called volleyball, volleyball is called hockey and hockey is called golf, then which 

of the following games is not played by using a ball?  

(a) Volleyball       (b) Basketball  

(c) Hockey       (d) Cricket 

Q20.In a joint family, Amrit is the son of Raman. Sarita, Raman's sister has a son Sanchay and a 

daughter Reena. Rajan is the maternal uncle of Sanchay. How is Amrit related to Sanchay?  



 

 

 

(a) Brother      (b) Brother-in-law  

(c) Cousin      (d) Uncle 

Q21.Pis the mother of Q and R. If S is the husband of R, what is P to S?  

(a) Mother      (b) Sister  

(c) Mother-in-law     (d) Aunt 

Q22.Complete the series 111, 100, 87, …….., 55, 36  

(a) 83       (b) 64  

(c) 72       (d) 78 

Q23.There are two bunches of banana. The first bunch of banana has one-third more bananas 

than the second bunch. If the second bunch has 3 banana less than the first bunch, how many 

bananas has the first bunch?  

(a) 6       (b) 9  

(c) 12       (d) 15 

Q24.If every alternative letter of English alphabet from B onwards (including B) is written in 

lower case (small letters) and the remaining letters are capitalised, then: How will be the first 

month of the second half of the year be written?  

(a) August      (b) July  

(c) July      (d) August 

Q25.If 879 = 8; 62.5 = 3 and 586 = 9, then 785 = ?  

(a) 7       (b) 0  

(c) 9       (d) 6 

Q26. The art of beautiful handwriting is called 

(a) calligraphy     (b) lexicography 

(c) philology     (d) orthography 

Q27. Match the idiom with its given meaning. 

"an unimportant or irrelevant matter which is introduced into a discussion to distract attention 

from the important matter which is being discussed. 



 

 

 

(a) red tape     (b) red light 

(c) red herring     (d) red letter 

Q28. He rarely comes to my house, 

(a) isn't it      (b) isn't he 

(c) doesn‟t he      (d) does he 

Q29. A physician who diagnoses and interprets the changes caused by disease in tissues and 

body fluids is called 

(a) Pharmacist     (b) Psychologist 

(c) Optometrist     (d) Pathologist 

Q30.Complete the sentence. She penned her feelings in a letter and posted it to him. Now, the 

ball was in his court. The underlined words mean. 

(a) the final decision rested on him  (b) her letter had reached him 

(c) he had nothing to say   (d) he was caught in a trap 

Q31.Choose the correct alternative for the word/sentence given below. 

"To hold one's tongue' 

(a), to support     (b) to interfere in one's work 

(c) to insult someone    (d) to keep quiet 

Q32.An eyewash is  

(a) An act of washing the eyes   (b) A lotion for eyes  

(c) Words of deception    (d) Both (b) and (c) 

Q33.The idiom 'blue blood' means  

(a) Something impossible    (b) An aristocrat  

(c) Something costly     (d) A funny object 

Q34.The synonym 'ameliorate is  

(a) to appease      (b) to make excuses  

(c) to humiliate     (d) to improve 



 

 

 

Q35. The antonym of 'avidity' is  

(a) over-active     (b) carelessness  

(c) greedy     (d) stupidity  

Q36. A place 'where everything is perfect  

(a) Ethereal     (b) Cosmos  

(c) Platoon     (d) Utopia  

Q37. The antonym of 'lucent' is  

(a) Dull     (b) Shining  

(c) Moonlight     (d) Sunrays  

Q38.Spot the error. The invigilator asked him (A) / that why he had (B) / not brought (C)/ his 

call letter (D).  

(a) A      (b) B  

(c) C      (d) D  

Q39.When we use the word "Pooh!" we express  

(a) Applaud      (b) Regret  

(c) Surprise      (d) Disdain 

Q40. Petrol prices, which have been on the rise for last several years, have backbone of 

automobile industry. Choose the correct option. 

(a) joined     (b) burst  

(c) broken     (d) altered 

Q41.A sentence “Sajid plays volleyball” is  

(a) A periodical sentence    (b) A compound sentence  

(c) A simple sentence     (d) A complex sentence 

Q42."Poetic justice‟ is  

(a) justice meted out by natural process  (b) justice done by poets  

(c) true justice     (d) fair play 



 

 

 

Q43.An assembly of persons for worship is  

(a) Community    (b) Congregation  

(c) Throng     (d) Procession 

Q44.There was opposition to the new policy by the rank and file of the government. The 

underlined words mean.  

(a) the majority     (b) the ordinary members  

(c) the cabinet members    (d) the official governmental machinery 

Q45. The government acted judiciously to stave………….the crisis. Choose the correct option 

(a) of      (b) out  

(c) off      (d) upon 

Q46. Indian government is planning ………..many changes in the Constitution. Choose the 

correct option 

(a) affect      (c) effected 

(b) effect      (d) get affected 

Q47.'l had warned you of the danger.' The passive voice of this sentence is  

(a) You were warned of the danger by me  

(b) You were being warned of the danger by me  

(c) You had been warned of the danger by me  

(d) You must have been warned of the danger by me 

Q48.precaution is necessary. Choose the correct option.  

(a) A few     (b) A little  

(c) Little     (d) The little 

Q49.The synonym of 'apposite' is  

(a) appropriate     (b) highly unpleasant  

(c) foolish      (d) painful 

Q50.A man should not brood…………….his troubles. Choose the correct option. 



 

 

 

  

(a) with      (b) in  

(c) over      (d) by 

Q51.“International Girls Child Day 2017" is celebrated on  

(a) 10 October     (b) 11 October  

(c) 12 October     (d) 17 October 

Q52.Who of the following is presently working as Indian Judge in 'International Court of 

Justice'?  

(a) Dalveer Bhandari     (b) Nagendra Rao  

(c) Swatantra Kumar     (d) Arun Mishra 

Q53.On Global Hunger Index India has been ranked  

(a) 97th      (b) 98th  

(c) 99th      (d) 100th 

Q54.H1B visa issue is related with  

(a) U.K.       (b) USA  

(c) China      (d) USSR 

Q55.What is the latest income limit for the creamy layer?  

(a) 2.5 lakh       (b) 4.5 lakh  

(c) 6 lakh       (d) 8 lakh 

Q56.The book Social Exclusion and Justice in India” is written by  

(a) Bhagwati Prasad      (b) Chandra Shekhar  

(c) Manu Sharma      (d) P.S. Krishnan 

Q57.National Law Day is observed on  

(a) 10th November      (b) 24th December  

(c) 26th November      (d) 1st December 



 

 

 

Q58.104th Indian National Science Congress was organised in 2017 in the city of  

(a) Tiruvanantpuram      (b) Madurai  

(c) Bhopal       (d) Tirupati 

Q59.Who is the Vice Chairman of Niti Ayog?  

(a) Prasun Joshi      (b) Rajeev Kumar  

(c) Urjit Patel       (d) Vishal Sikka 

Q60.In September 2017 Brics Summit was held in the city of  

(a) Paris       (b) Rio  

(c) Hague       (d) Xianmen 

Q61.International Literacy Day is observed on  

(a) 5th September      (b) 8th September  

(c) 14th September      (d) 16th September 

Q62.Which of the following judges was punished by Supreme Court for the contempt of court?  

(a) J.A.K. Goyal      (b) J. Swatantra Kumar  

(c) J.C.S. Karnan      (d) J. S.N. Shukla 

Q63.Who proposed the preamble before the drafting committee of the Constitution?  

(a) Jawaharlal Nehru      (b) Ambedkar  

(c) B.N. Rao       (d) Mahatma Gandhi 

Q64.Which Constitutional Amendment is also referred to as 'Mini Constitution"?  

(a) 31st Amendment     (b) 42nd Amendment  

(c) 44th Amendment     (d) 91st Amendment 

Q65.How many members of the Indian Parliament can be nominated by the President of India?  

(a) 10 members     (b) 12 members  

(c) 14 members     (d) Only 2 members 



 

 

 

Q66.Which one of the following concepts is imbibed in the Constitution as a Directive Principle 

of State Policy?  

(a) Uniform Civil Code    (b) Freedom of the Press  

(c) Freedom of travel abroad    (d) Equality before the law 

Q67.What is the age of superannuation for a High Court Judge?  

(a) 60 years     (b) 62 years  

(c) 65 years     (d) 70 years 

Q68.Which article of Indian Constitution includes right to privacy as a fundamental right?  

(a) Article 21     (b) Article 21-A  

(c) Article 19     (d) Article 14 

Q69.The Supreme Court of India has struck down the practice of Instant Triple Talaq in Muslim 

community by saying that the practice violates certain articles of Indian Constitution. Choose the 

correct articles?  

(a) Article 14 and 16    (b) Article 16 and 20  

(c) Article 14 and 21    (d) Article 19 and 22 

Q70.The Union Ministry of Environment and Forests and Climate Change (MoEFCC) has 

launched a new campaign. What is it called?  

(a) Wood is Good    (b) Sustainable Way Forward  

(c) To Create and Sow   (d) Climate Change and Tomorrow 

Q71.Which State government has announced 1% reservation for orphans in government jobs and 

education?  

(a) Kerala     (b) Haryana  

(c) Maharashtra    (d) Karnataka 

Q72.Where is the headquarters of National Disaster Management Authority (NDMA)?  

(a) New Delhi     (b) Kanpur  

(c) Kochi     (d) Dehradun 

Q73.What is the theme of the 2017 World Human Rights Day (WHRD)?  



 

 

 

(a) Stand up for someone's rights today  

(b) Stand up for Human Rights  

(c) Our Rights, Our Freedoms, Always  

(d) Let's stand up for equality, justice and human dignity 

Q74.Which State assembly has passed a bill awarding death to those found guilty of raping girls 

aged 12 and below?  

(a) Karnataka      (b) Odisha  

(c) Bihar      (d) Madhya Pradesh 

Q75. Which committee has been constituted by the Maharashtra Government to recommend 

ways to stop custodial deaths? .  

(a) Sudhir Shrivastava Committee   (b) Aniket Kothale Committee  

(c) S.L. Jain Committee   (d) Kirti Patekar Committee  

Short answer type descriptive questions 

1. 'Honour killing' is a socio-cultural menace. Elaborate, 

 

2. Comment on the “Right to Privacy". 

 

3. "Media trial is against the spirit of free trial". Discuss. 

 

4. In what way is the Goods and Services Tax (GST) a major tax reform? 

 

5. On which legal grounds did the Supreme Court outlaw Triple Talaq (divorce)? 

 

6. "Justice delayed is justice denied". Elaborate. 

 

7. What are the main benefits of the Presidential form of government? 



 

 

 

8. Critically examine the relationship between law and social reform. 

 

9. "Good governance is the main challenge facing our democracy". Argue for or against it. 

 

10. Bring out the role of technology in conducting free and fair elections. 

 

 

 

 

 

 

 

    

 

 

 

 

 

 

 

 

 

 

 

 




